Name:  _____________________________ (please print)
Signature: __________________________

ECE 3355 -- Quiz #1
September 18, 2012

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.


________________/20

Room for extra work

For the circuit shown, the switch had been open for a long time before closing at t = 0.  
a) Find ia, valid a long time after t = 0.
b) Find IA, valid a long time after t = 0.









Room for extra work

ECE 3355 -- Quiz #1 – September 18, 2012 – Solution
For the circuit shown, the switch had been open for a long time before closing at t = 0.  
a) Find ia, valid a long time after t = 0.
b) Find IA, valid a long time after t = 0.
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ECE 3355 -- Quiz #1 — September 18, 2012 — Solution

For the circuit shown, the switch had been open for a long time before closing at £ = 0.
a) Find i, valid a long time after 7 = 0.
b) Find I, valid a long time after ¢ = 0.

isl(t)=6[A]cos(3[%}+47oj_4[A].

0.5[F]
34[Q]
0.42[H]
-_— 1=
iq(t)
isi(®)
71€]

22[Q]

Tlxere 15 no need Tfor initral coaditions N this
Pr\ob’em. wWe ave only asked tor the values i
.f‘l‘eady state, IOwj after the Switch closes.

Us}nj Suﬁer})o{fﬁ'l\oﬂ) we <can .fe/oa/‘afe the S1nusoda(
Co\mfone.n{' and  the dc¢ (OM/?O""?"'t". Takfnj the
ShMusordal COM/DO/IGA{-J we Convert To the P/MJM

doman, o |
3a) €50y

%ﬂz}
6 z£ ‘Z] 2y Ta W, 323fn

J
See next
Paa e





image5.png
We note that the 3Y(N] resistor aad the 235n)
resistor can be l‘jno/f:l. Do?nﬂ a Souvee transformation,
we have the 'ﬁ)//ow»\nj:

- “Y2L¥7° + ST,

La

CostnT 7 +O.59;(n3
a SOIV;hJJ we ae‘t

Ty =20194 -197° (4]
a} So ,ia (t) 2Q0.1Y cos (3[”‘%}1‘ -179 O)[A.}/

b) Tle

de comf:onen't' ot ZA [.L-) A _gteaoQ/—.f'tc\fe
must be Zevo, Since [t 1y the cuvrest i-hroﬁh

A Caf)acffor‘ TA\AIJ

T, =0




image1.wmf
[

]

[

]

1

rad

()6Acos3474A.

s

S

itt

æö

éù

=+°-

ç÷

êú

ëû

èø


oleObject1.bin

image2.emf
i

A

(t)

t= 0

v

S2

(t)= 

5[

W

]i

A

(t)

+

-

i

S1

(t)

22[



]

34[



]

0.5[F]

7[



]

0.42[H]


oleObject2.bin
30[]


45[]


+


-


10[V]


iQ


17vW


+


-


3.3[mH]


t = 0


2.2[mF]


34[]


22[]


vS2(t) = 5[W]iA(t)


0.42[H]


iS1(t) 


0.5[F]


iA(t)


7[]



oleObject3.bin

